= Worksheet 3

= Year 12

= Algebra of functions

Given the rules f (x) and g(x) , find the rules f ( g (x)) and
g( f (x)), state the domain and range in each case.

Lo fl)=vxs gx)=x
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2. flx

)=sinx where xe [0,27]; g(x)= Jx.

3. f(x):x2 +1; g(x)zlogex.

4. f(x)

[ g()=cosx.

5. f(x)=tanx where xe {O,gj; glx)=x>+1.

6. f(x)

e*; g(x)=x>—4x-5.

7. f(x)=xil glx)=x". 8. fx)=sinx; glx)=1-¢".
9. f(X)=é; g(x)=cosx where xe [0,27]. 10. f(x):1+x_12; glx)=— xl_1 .

Numerical, algebraic and worded answers. 5. f (g(x)) = tan(x2 + 1), {0,

T
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1], fian1,e); g(£(x))= tan® x+1, { 2] [i,c0).

3. f(g(x)) = (log, x)2+1, R*, [l,o); g(f(x)) = log, (x* +1), R, [0 - 4 f(g(x)) = |cos o, R, [01] g(f(x)) = cosld, B, [-11].
1 fg(x)= : g(f(x)=x. [0.0), [0.0). 2. (g —smf [0.0), [-11]; g(f m [0.7]. [o.].

6. f(g(x))= e R(o 0): g(f(x))= e —4e* -5, R, [— 7. f(g(x))= SR 0,1];g(f(X))=ﬁ,R\{—l}, R*
8.f(g(x))=sin(l—e"),R,[—u];g(f( ))=1-¢"", R, [1—e,1—e‘1]. 10. £(g(x) = x, (1,%0) , (1, e0) ; g (£ (x)) = —x , R\ {0}, R\ {0}
9. /gl =—— [ogju[g%”ju[%” 24 (e lOfen)s g7 ()=cost RAOL L1,
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